ENL#HX

N
kil ks

EEERRX

2 oo
ﬂﬂ5 éi?

YQY
z:jﬁﬂ%m\

REHM

TEEE

=
Bt

B @

FAfEE

ff?
U

k=)

:1t1ﬁliﬁ.'.

Ea
rﬁﬂliﬁﬂ% QZ

WK FNIHBBE  KIGHK
1tﬂll:§ﬂ§ rrrerrs

LEEEX

Hﬁﬂ%tﬁ‘.

:Itﬁ'lﬁﬂ% :H:ﬁ'l%iﬁ

ﬂ'léit! —
Z{

SEENIE
2ibig

s [T [ 2
A | 90% E | 50%
B | 80% |[ F | 40%
[} ’ G
D

31314

31316

MR
(HFIE)

Ll

2
i

i%ad
g

ALK A O RER

N \\\
NN
e

N

SO é/
. >/
NN

s020-4)

020 \\

EZr

— T pes

S 2

CERIE— T eEERESE
- m\ JBER (SRR ///

-1

—
a1

312

535
5%

-\
|

2535-9 75353

\\
\-

\
1588




